To become a high performance organization

Total Lean Management (TLM) Solution

Automotive Industry :

Problems & Challenges : *
1) Could not deliver their products within 25 dayj )
2) Their products were rejected from the Cus continuously

3) Materials and parts shortage cont@m
Solutions :

1) Developed their peo Cg ing TLM thinking & concept
n

2) Made a continuofs d pull system in place

3) Made ‘% 1zed work to minimize wastes & losses
\
Result\s :

1) OTD 100% (within 25 days)

2) Zero reject rate
3) Zero materials & parts shortage
4) Reduced lead time by 50%
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To become a high performance organization

Total Lean Management (TLM) Solution

Automotive Industry :

Problems & Challenges : *
1) Could not deliver their products to the custom@&rne
2) Low profitability due to high operatin@)\,

Solutions :

AFTER Main Board

1. Reduce Lot size all part

+ Reduce Lot size 40% all P/N
+ Produce by K/B
+ Implement for 43 Injection M/C

1) Developed their peoples by u thinking & concept
2) Reduce production leC} e gnd improved machine efficiency

2. Move WIP to line site

3) Made new standafdiz ork to minimize wastes & losses

+ Cancel box of WIP parts 1

+ Keep at store side line "‘ .
, — , | Results :
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Defvey 1) OTD 100
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2) Reduced cost by 20 Mil.Baht/Year

oeTaLs: Achieve to Cancel Rental WH 100%
3) EBITC up by 5%

3. Reduce store

+ Re-layout & roller
+ Calculate store (KB)
all parts for 1.5 days

Mpes.  Stock FG+CIP+0IS m? Rental W/H Area
100%
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To become a high performance organization

Total Lean Management (TLM) Solution

Automotive Industry :
Problems & Challenges : %‘
1) Their products were rejected from the cust m@&nu sly

2) Low profitability due to high operatin%

Solutions : Q/’
1) Developed their peoples b (& thinking & concept |

2) Implemented pokayo@ duced inventory & lead time
3) Made new standdfrdiz

Results ; 0
[\
1) OTD 100
2) Reduced reject rate to be 3 ppm

3) Reduced cost by 20 Mil.Baht/Year
4) EBITC up by 5%

ork to minimize wastes & losses

B ) 4

* Produce by KB
* Lot size 350 pcs. + K/B calculation
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